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clZger 21
-=~2-~| 2001 | 2002 | 2003 | 2004
MY 4,132 3,600 4,254 5,820
si7td 3,581 3,209 3,778 5,264

2571144 551 391 476 556

51712 (%) 86.7 89.1 88.8 90.4
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H2LHE | 17121 | HIS(%) | HPLHE | S17I213H | HIS(%)

sSY/MHe | 1,610 | 30.6 a A 180 3.4
ZHof/H e 661 12.6 | FHESF 174 3.3
71=918 580 11.0 | =H=8 53 1.0
ol 2|5 383 7.3 S| AAIS 39 0.7
dg/&e| 329 6.3 | SE/MA 37 0.7
TR 268 5.1 ol = 22 0.4

ZEAAS 259 4.9 7] E} 456 8.7

FExe| 213 4.0 g Al 5,264 | 100.0
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QI SHAK| 27| 7 ZHE (AHIREHAY)
o & xIZH() | XIZ4(H

EH| D KT 4
DEFS 5t Al
ML S A (M)

=1 a0 e 50,000 7,900
Al T
e
TS
CHSH2Io1 748
CHEHRl MA}D}EIAY 70,000 3,400
CHSH 2l SEA}DEE A8
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X|YUXX| A/ 2 LS EHY| ZHsi=

=z X2

o < x| 20l (oM) S
JASHIFskM 20,900 22
=Sk M 18,600 V4
CH3H QU0 TjAY 15.800 6
ol 0{ IS 7| ZHH 3,000 1
CI7|CHskA 20,800 38
CHEHEHES 2470l 17.800 14
Cl&tahe Al 22,100 49
CHzkel o1=a 25.800 28
CHSHS! MA}FTb=IAY 28,400 46
CHE+Sl A} AN 26.000 43
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A 67,300 4
ASHEstud 68,100 6
H4stm Al 82,100 8
CHEH =0 ap A8 20,800 3
T VTR 41,300 4
CE7|CHSHAY 57,200 14
T ESEINT 34,900 :
CHEHeHE Al 57,000 85
CHak2d o1l 60,500 30
CHEHRS AARDEE Al 80,500 113
CHEH2d HEA}TLS A 81,100 115
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O < NECTEN A
g Et-ampY 105,000 2
CHst 21=01 A 100,000 1
oIS {7 | 2HM 100,000 1
C}J |ClEHAH 105,000 2
Cl|StSHEL Al 93,300 2
LSl o1 AH 122,140 8
CHSHR] MA}D}=IAH 136,000 11
LSl HEA} D= A 151,700 10
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